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Chemistry Ch.10 Practice

1) Molar mass
Find the molar mass
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e Make the following conversions... Use factor-label method
e Units are your guide ~ put in the #’s last! SIG DIGS! BOX in your answer!
UNITS!
) Moles to grams
a) 1.00 moles of Potassium Bromide = g
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b) 5.25 moles of Copper (IT) Nitrate 2> g
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c) 3.00 :j)les of Carbon dioxide 2 g
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3) Grams to moles 4

a) 12.01 g of Carbon - moles

b) 36.04 g of Water = moles
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c) 225¢gof Calciu{flﬁroxide - moles
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4) Atoms to grams/grams to atoms
a) 1.23x10° atoms of Silver > g
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b) 6.02x10> atoms of Lithium Sulfate > g
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¢) 75.53 g of Calcium Chloride = atoms
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5) Find the % composition of Potassium Sulfate
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6) Find the % composition of Aluminum Nitrate
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GO VIKINGS!



